## **CURRICULUM COMPENSATION**

I RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR MATHENY-WITHROW ELEMENTARY SCHOOL AFTER SCHOOL TUTORING ACTIVITIES FOR THE 2023-24 SCHOOL YEAR ONLY, EFFECTIVE AUGUST 21, 2023, \$35.57 PER HOUR (23-24): (10-1100-0000-1341-498-4)

Bahlmann, Dara
Cook, Kaitlyn
Young, Jennifer
Meyer, Heather
Oseland, Mary
Smith, Melissa

II RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ENOS ELEMENTARY SCHOOL MATH BACKWARDS PLANNING ACTIVITIES NOVEMBER 20, 2023, \$35.57 PER HOUR: (10-2210-0700-1341-531-4)

Johnson, Kassandra	1.00 hours	\$35.57
Joyner, Abbie	1.00 hours	35.57
Maley, Sarah	2.00 hours	71.14
Pfaffe, Alexander	1.00 hours	35.57
Wolf, Edyth	2.00 hours	71.14

III RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES NOVEMBER 20, 2023, \$35.57 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$53.36 EACH: (10-2210-0800-1341-531-4)

Ciotti, Ryan Hustedt, Isaac

Fox, Kathleen

IV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR JEFFERSON MIDDLE SCHOOL MATH BACKWARDS PLANNING ACTIVITIES NOVEMBER 20, 2023, \$35.57 PER HOUR: (10-2210-0900-1341-531-4)

Boarman, Claire	1.75 hours	\$62.25
Goss-Rodgers, Gina	2.00 hours	71.14
Horstman, Laura	2.00 hours	71.14
Rosa, Leslie	2.00 hours	71.14
Scott, Tyra	1.75 hours	62.25

V RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR WILCOX ELEMENTARY SCHOOL SCIENCE BACKWARDS PLANNING ACTIVITIES NOVEMBER 16, 2023, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-4331-1341-534-4)

Fernandez, Mary Mcdowell, Toni Israel, April Riedel, Bridget Love, Brenna Robinson, Jillane Martin, Bailey Wilson, Krista

VI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FEITSHANS ELEMENTARY SCHOOL DATA DAY ACTIVITIES OCTOBER 30, 2023, \$35.57 PER HOUR, 3 HOURS FOR A TOTAL OF \$106.71 EACH: (10-2210-4600-1341-531-4)

Crumrine, Carrie

Patterson, Jami

VII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FEITSHANS ELEMENTARY SCHOOL DATA DAY ACTIVITIES NOVEMBER 9, 2023, \$35.57 PER HOUR, 2 HOURS FOR A TOTAL OF \$71.14 EACH: (10-2210-4600-1341-531-4)

Crumrine, Carrie Patterson, Jami Farnworth, Christine Shively, Lydia

Farthing, Josh

VIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FEITSHANS ELEMENTARY SCHOOL DATA DAY ACTIVITIES NOVEMBER 13, 2023, \$35.57 PER HOUR, 3 HOURS FOR A TOTAL OF \$106.71 EACH: (10-2210-4600-1341-531-4)

Crumrine, Carrie Patterson, Jami

Farnworth, Christine

IX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR STUDENT SUPPORT SERVICES OCTOBER MEDICAID BILLING ACTIVITIES OCTOBER 4 THROUGH NOVEMBER 6, 2023, FOR RATE SPECIFIED: (10-2210-6220-1342-000-0)

Anderson, Annaelise	2.00 hours	\$65.44 Per Hour	\$130.88
Baker, Roxanne	1.50 hours	\$60.74 Per Hour	91.11
Bolt, Anna	0.50 hours	\$74.69 Per Hour	37.35
Bramblett, Rebecca	5.00 hours	\$70.42 Per Hour	352.10
Dwyer, Stephen	3.00 hours	\$64.98 Per Hour	194.94
Geosling, Raymond	0.75 hours	\$55.09 Per Hour	41.32

X RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FEITSHANS ELEMENTARY SCHOOL DATA DAY ACTIVITIES NOVEMBER 8, 2023, \$35.57 PER HOUR, 2 HOURS FOR A TOTAL OF \$71.14 EACH: (10-2210-4600-1341-531-4)

Bryant, Sydney Farnworth, Christine
Crumrine, Carrie Floyd, Alaxandria
Ethridge-Galloway, Tiffany Patterson, Jami

XI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FEITSHANS ELEMENTARY SCHOOL DATA DAY ACTIVITIES NOVEMBER 7, 2023, \$35.57 PER HOUR, 2 HOURS FOR A TOTAL OF \$71.14 EACH: (10-2210-4600-1341-531-4)

Crumrine, Carrie Patterson, Jami Ethridge-Galloway, Tiffany Schoedel, William Farnworth, Christine White, Jerome

XII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FEITSHANS ELEMENTARY SCHOOL DATA DAY ACTIVITIES NOVEMBER 6, 2023, \$35.57 PER HOUR, 2 HOURS FOR A TOTAL OF \$71.14 EACH: (10-2210-4600-1341-531-4)

Crumrine, Carrie Nachtwey, Kristin Farnworth, Christine Patterson, Jami

Frost, Madison

XIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FEITSHANS ELEMENTARY SCHOOL DATA DAY ACTIVITIES NOVEMBER 2, 2023, \$35.57 PER HOUR, 2 HOURS FOR A TOTAL OF \$71.14 EACH: (10-2210-4600-1341-531-4)

Butler, Allory Patterson, Jami
Crumrine, Carrie Spencer, Horazina
Farnworth, Christine Williams, Alyson

Graham, Brianna

XIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR STUDENT SUPPORT SERVICES NOVEMBER CPI INSTRUCTIONAL ACTIVITIES NOVEMBER 7 THROUGH NOVEMBER 14, 2023, \$35.57 PER HOUR, 8 HOURS FOR A TOTAL OF \$284.56: (10-1200-6220-1165-000-0)

Logsdon, Thomas

XV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR STUDENT SUPPORT SERVICES HOME/HOSPITAL INSTRUCTION ONBOARDING MEETING ACTIVITIES SEPTEMBER 7 THROUGH SEPTEMBER 18, 2023, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-6220-1342-000-0)

Eggleston, Richard Tatman, Patricia
Jumper, James Lee Traw, Molly
Rogers, Chenoa

XVI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR STUDENT SUPPORT SERVICES SEPTEMBER CPI INSTRUCTIONAL ACTIVITIES SEPTEMBER 21 THROUGH SEPTEMBER 28, 2023, \$35.57 PER HOUR, 8 HOURS FOR A TOTAL OF \$284.56: (10-1200-6220-1165-000-0)

Logsdon, Thomas

XVII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR STUDENT SUPPORT SERVICES OCTOBER MEDICAID BILLING ACTIVITIES OCTOBER 1 THROUGH NOVEMBER 11, 2023, FOR RATE SPECIFIED: (10-2210-6220-1342-000-0)

Baker, Audrey	3.00 hours	\$40.97 Per Hour	\$122.91
Brinkmann, Kristen	4.50 hours	\$62.15 Per Hour	279.68
Clark, Abigail	5.00 hours	\$53.68 Per Hour	268.40
Clark, Michelle	4.50 hours	\$75.75 Per Hour	340.88
Corley, Elizabeth	3.50 hours	\$66.93 Per Hour	234.26
Crabtree, Caroline	3.25 hours	\$42.38 Per Hour	137.74
Deatherage, Debra	4.00 hours	\$65.25 Per Hour	261.00
Farley, Nicole	5.00 hours	\$53.68 Per Hour	268.40
Fenstermacher, Lori	5.00 hours	\$75.75 Per Hour	378.75
Foster, Jennifer	4.00 hours	\$56.52 Per Hour	226.08
Groesch, Erica	3.25 hours	\$75.75 Per Hour	246.19
Hummel, Emily	5.00 hours	\$66.93 Per Hour	334.65
Judy, Kathryn	4.00 hours	\$42.38 Per Hour	169.52
Kim, Whitney	5.00 hours	\$75.75 Per Hour	378.75
Kinkade, Taylor	4.00 hours	\$45.21 Per Hour	180.84
Marcum, Stacie	3.75 hours	\$56.52 Per Hour	211.95
Mccord, Marguerite	5.00 hours	\$63.57 Per Hour	317.85
Mcdaniel-Norton, Stacey	5.00 hours	\$74.69 Per Hour	373.45
Mitchell, Daj'Za	5.00 hours	\$42.38 Per Hour	211.90
Moore, Carolyn	5.00 hours	\$64.98 Per Hour	324.90

## October Medicaid Billing Activities, October 1 Through November 11, 2023 cont.

Naumovich, Amanda	5.00 hours	\$70.42 Per Hour	352.10
Plunkett, Cara	5.00 hours	\$53.68 Per Hour	268.40
Rehn, Megan	2.00 hours	\$43.79 Per Hour	87.58
Reitz, Laura	5.00 hours	\$64.98 Per Hour	324.90
Roe, Katie	4.00 hours	\$72.55 Per Hour	290.20
Rouland, Jill	4.25 hours	\$63.57 Per Hour	270.17
Watt-Brennan, Janine	3.00 hours	\$60.98 Per Hour	182.94

XVIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR TITLE I NON-PUBLIC INTERVENTION ACTIVITIES NOVEMBER 13 THROUGH NOVEMBER 21, 2023, \$32.26 PER HOUR, 16 HOURS FOR A TOTAL OF \$516.16: (10-3700-0000-1243-531-4)

Lamsargis, Kathy

XIX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR EARLY START PORTFOLIO HOURS NOVEMBER 5 THROUGH NOVEMBER 18, 2023, \$35.57 PER HOUR, 4 HOURS FOR A TOTAL OF \$142.28 EACH: (10-2210-6431-1341-481-4)

Ahiable, Esene Loken, Susan Becker, Brooke Meyer, Abbygail Burk, Jennifer Nishimoto, Bethany Coble, Bryan Purdy, Patricia Servough, Carrie Crumbaugh, Lisa Simmons, Sara Fields, Rachael Gray, Nicole Smith, Janette Tolsdorf, Kathleen Hunter, Rachel Justison, Mildred Ziccarelli, Andrea Lacamera, Kathryn

XX RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR STUDENT SUPPORT SERVICES HOME/HOSPITAL INSTRUCTION ONBOARDING MEETING ACTIVITIES SEPTEMBER 7 THROUGH SEPTEMBER 18, 2023, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-6220-1342-000-0)

Davis, Michael

Walker, Jaunice

XXI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION GOOGLE MEET PROFESSIONAL DEVELOPMENT NOVEMBER 14, 2023, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57: (10-2210-0000-1341-564-4)

Swierkosz, Beth

XXII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION MIDDLE AND HIGH SCHOOL MATH COLLABORATION NOVEMBER 15, 2023, \$35.57 PER HOUR: (10-2210-0000-1341-564-4)

Ballenger, Sara	0.50 hours	\$17.79
Barnard, Angela	0.50 hours	17.79
Biggers, James	1.50 hours	53.36
Horstman, Laura	0.25 hours	8.89
Lin, Christine	1.50 hours	53.36
Mcdonald, Colleen	1.50 hours	53.36
Midiri, Frank	0.75 hours	26.68
Moldenhauer, Ryan	1.00 hours	35.57
Moore, Lindsey	0.25 hours	8.89
Myers, Erin	1.50 hours	53.36
Schaefer, Bridget	0.50 hours	17.79
Schroeder, Cynthia	1.50 hours	53.36
Stevens, Joseph	1.50 hours	53.36
Urbanek, Elizabeth	1.50 hours	53.36
Webster, Stephanie	1.50 hours	53.36
Wieneke, Monica	1.50 hours	53.36

XXIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION ELEMENTARY TECH BUILDING LEADER STIPEND - GRADING PERIOD 1 AUGUST 17 THROUGH NOVEMBER 9, 2023, FOR RATE SPECIFIED: (10-2210-0000-1341-564-4)

Covey, Heather	1.00 Stipend	\$350.00 Per Hour	\$350.00
Cripe, Jill	1.00 Stipend	\$106.25 Per Hour	106.25
Crum, Milena	1.00 Stipend	\$350.00 Per Hour	350.00
Ethridge-Galloway, Tiffany	1.00 Stipend	\$193.75 Per Hour	193.75
Flanagan, Kathy	1.00 Stipend	\$350.00 Per Hour	350.00
Floyd, Alaxandria	1.00 Stipend	\$287.50 Per Hour	287.50
Grieme, Nathan	1.00 Stipend	\$262.50 Per Hour	262.50

## Elementary Tech Building Leader Stipend - Grading Period 1, for Rate Specified, cont.

Helm, Lindsey	1.00 Stipend	\$262.50 Per Hour	262.50
Hirsch, Kelsea	1.00 Stipend	\$350.00 Per Hour	350.00
Langen, Natasha	1.00 Stipend	\$350.00 Per Hour	350.00
Lauer, Karianna	1.00 Stipend	\$350.00 Per Hour	350.00
Lueking, Mary	1.00 Stipend	\$350.00 Per Hour	350.00
Meyer, Heather	1.00 Stipend	\$350.00 Per Hour	350.00
Naumovich, Amanda	1.00 Stipend	\$50.00 Per Hour	50.00
Nolting, Jenny	1.00 Stipend	\$100.00 Per Hour	100.00
Pyle, Amy	1.00 Stipend	\$37.50 Per Hour	37.50
Rake-Davis, Christine	1.00 Stipend	\$350.00 Per Hour	350.00
Roher, Kortney	1.00 Stipend	\$331.25 Per Hour	331.25
Schwab, Stephanie	1.00 Stipend	\$337.50 Per Hour	337.50
Seiz, Anne	1.00 Stipend	\$150.00 Per Hour	150.00

XXIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION MIDDLE AND HIGH SCHOOL TECH BUILDING LEADER STIPEND AUGUST 17 THROUGH OCTOBER 27, 2023, \$250.00 PER STIPEND, 1 STIPEND FOR A TOTAL OF \$250.00: (10-2210-0000-1341-564-4)

Schaefer, Bridget

XXV RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR DEPT OF INSTRUCTION GOOGLE MEET PROFESSIONAL DEVELOPMENT NOVEMBER 14, 2023, \$19.02 PER HOUR, 1 HOUR FOR A TOTAL OF \$19.02: (10-2210-0000-1341-564-4)

Ahlers, Gaye